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claimed = 0/0, eliminated = 00ORA-00704: bootstrap process
fallureORA-00604: error occurred at recursive SQL level
10RA-01502: index SYS.I_DEPENDENCY1 or partition of such
Index Is in unusable stateoerr ora 70400704, 00000, "bootstrap
process failure"// *Cause: Failure in processing bootstrap data - see
accompanying error.// *Action: Contact your customer support
representative.SQL TRACEL O 0O O O O O O O Trace:PARSING
IN CURSOR #9 len=84 dep=2 uid=0 oct=3 lid=0
tim=18446744073254091198hv=2287793623 ad=66f6c06c0select
0.name, u.name from obj$ o, user$ u where o0.obj# =:1 and
o.owner# = u.user¢dEND OF STMTPARSE
#9.c=0,e=343,p=0,cr=0,cu=0,mis=1,r=0,dep=2,09=0,tim=1844674
4073254091193EXEC
#9:¢=0,e=186,p=0,cr=0,cu=0,mis=0,r=0,dep=2,09=4,tim=1844674
4073254091456FETCH
#9:¢=0,e=28019,p=2,cr=5,cu=0,mis=0,r=1,dep=2,00=4,tim=18446
744073254119501STAT #9 id=1 cnt=1 pid=0 pos=1 obj=0
op=NESTED LOOPS STAT #9 id=2 cnt=1 pid=1 pos=1 obj=18
op=TABLE ACCESS BY INDEX ROWID OBJ#(18) STAT #9id=3
cnt=1 pid=2 pos=1 obj=36 op=INDEX UNIQUE SCAN OBJ#(36)
STAT #9id=4 cnt=1 pid=1 pos=2 obj=22 op=TABLE ACCESS
CLUSTER OBJ#(22) STAT #9 id=5 cnt=1 pid=4 pos=1 obj=11
op=INDEX UNIQUE SCAN OBJ#(11) ORA-00704: 0O U OO O O
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#1.c=109375,e=5578667,p=44,cr=616,cu=1,mis=0,r=0,dep=0,0g9=4,
tim=18446744073255895570ERROR #1:err=1092
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